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EM: E=TAA
S A=A
o2l 528 MAZS(ME=SIIY) (EECE
3 L <1 L5 O O] AFOH =
SH - B S9(3H) - NRAY - BES S cR HIDS2
02 S3294| 446,400 438,668 7,732
=0 & 446,400 438,668 7,732
OlBB322LHAl 52,680
OBIHSIAIS Y ADIEXIRAIY E&HAl
A Hot U SMeI 43,200
oJIZHEE LTE 30068
1,320,000& 1l 12& 15,840
0 DATA 8Mops 5,000& *2000H = 12& 12,000
O AXGATE Secure NLB S&HZ oH&H| UM
400,000& 1 *12& 4,800
oSecure NLB AX-MaM License
4, 4005’4*2003H*12% 10,560
OSES2ZAIAIAE QIE{Ul(ADSL) Al
75,000 J*22|’\"*12% 1,800
ObH==Xl, JIZ&2E TWTC ME3lH AlEE
20,0003 *323| M+ 128 7,680
Q&g 21838718 3717
10,000& *305*103] 3,000
OAstd Al & ELHI(HEI] X1 5)
2,000,000& * 1500 2~ 30,000
O[ANEEHIKXIHI] 118,920
OJFOLXF /\|/\—|D o |E¢—H|
1,500,000 *18JH 2= *50% 13,500
OJETd HO A MESI| =24l
8,000,000 *4CH 32,000
OJtEITE UPSHHE 2] WAl
110,000 *200 A +20JH 2 4,400
OtH=Xl HA S2H|(A 29)
1,000, 000& *20H A= *23] 40,000
Obfz=X & JIQEIXN ZHI|& S
SA2elyl 155,000& *84m’ 13,020
OAEI| RAEx=(+=fAH 2 55)
1,000, 0003 x55*2H4 10,000
Obi==Xl & JtSEIE *CCTV SN2
2,000,000 30 2~ 6,000
O[s&dl] 241,800
O2EYIILHIE MRS
2,000,000& x12& 24,000
OYUUIIQHEE MRS
9,000,000& x12& 108,000
QAEDISHIER M2
750,000& x 12& 9,000
OAMANINILBEIXNS 1A MRS
50,0003 *190 A x12& 11,400
O0ISSIHHAEIE MIQS
500,000& *12& 6,000
OBADISHER M2
900,000 x12& 10,800
OMEIISHINY M2
400,000 *12& 4,800
OFSOIEINY MRS
100,000 = 12& 1,200
O™ I3 800,000& 122 9,600




S SEARA
HE: ALEALD)
Cigl: AE2 MABB(ASTTIIQ) (e e
s oy 31 0 v -
SA - BB S9I(EN) - MRAL - BYS S cR HIDEY
oFLBELY MRz
500,000 12& 6,000
oot BELY MIIR=
100,000& x 122 1,200
oMLY MIIR=
300,000& x12& 3,600
OStADIEEE M)
500,000& *12& 6,000
OASBH= DB EY M=
1,000,000+ 123 12,000
Od=k FAREH &=
30,0003 450 A% 123 16,200
OJIE &l & DB Y MIIR=
1,000,000+ 123 12,000
202 04l 10,000 16,800 26,800
01 2L 10,000 16,800 26,800
=0l & 10,000 16,800 26,800
O[=uoidl] 10,000
Od==E HIRFA 0l
20,0002 *52 %1002 10,000
NEE EF(a+=E301Y) 16,378,611 19,744,263 24,365,652
= 2,100,000
s 6,078,000
= 564,500
= 6,636,111
=X i A2 BE 656,000 811,000 A 155,000
401 AIEHIZ S0 650,000 800,000 /150,000
01 A&l 650,000 800,000 /150,000
=0l &t 650,000 800,000 /150,000
Od=% == d=X e SAl
300,000,000 *20H 2 600,000
OZME=+E HUAX(INSH) W&
50,000,000 10 2 50,000
405 AHoHE SH 6,000 11,000 /5,000
01 M ESHSHI 6,000 11,000 5,000
=0l & 6,000 11,000 /5,000
O&=% &J| Hlz 7< 6,000
Ood=+& My 7 800,000 *5H4 4,000
OFSErSENSIPN S Sol 200,000 *107H 2,000
L= a=k ZHIAE 6,843,000 6,967,336 N124,336
[ 6,078,000
[ia 765,000
401 AlEHIZL O] 6,843,000 6,967,336 N124,336
[ 6,078,000
s 765,000
01 Al&Hl 6,843,000 6,967,336 N124,336
[ 6,078,000
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o
B
£l
0

. rou 11 0 A .
SH - B S9(3H) - NRAY - BES S cR HIDS2
= 765,000
20 & 6,843,000 6,967,336 A124,336
= 6,078,000
o 765,000
OL=F &2t HHIALS
6,843,000,000& =101 & 6,843,000
= 6,078,000
o 765,000
=EAEZE WA L EAS 656,295 686,295 230,000
401 AIEHIL 20| 638,000 638,000 0
01 A&t 633,000 633,000 0
=0 A 638,000 638,000 0
OM4E AT=7 A Bay|
2,000,000 #1750 2~ 350,000
Oal=T 2 WIS AtHI 200,000 *750m 150,000
ODE =F A WA ¢ HA Heltl
500, 000 *60JH 2 30,000
Ox=Ed AZAXNSHEI| FAE=4]
50,0003 *60JH £ 3,000
OMNES=SAHI 500,000& *10AH 5,000
Ol AIE A ] 100,000
OZLES AMMKIEA =2 A=A
20,000,000 =10 4 20,000
OMSE HEFHEX 2t ME ALY
20,000,000 =10 4 20,000
OZAH AMKIA B2t A=A
20,000,000 =10 4 20,000
ONMZSH ATHXIA b2 MEAIS
20,000,000 10 4 20,000
OStatH ATHAIA B2t A=A
20,000,000 =10 4 20,000
405 Ko SHI 18,295 18,295
01 XrAtYL 2 EFSHI 18,295 18,295
204 & 18,295 18,295
O[2=AZI| wHbl] 13,295
O=SAHEI(nHE) 2 13,295
0 13mm 53,0002 752 3,975
0 20mm 68,0002 1521 1,020
0 25mm 81,800&x10A 818
0 32mm 97,0003 x5 485
0 40mm 149,700 & *5AH 749
0 50mm 187,000 524 95
o 75mm 792,000 *321 2,376
o 100mm 902,000& *221 1,804
o 150mm 1,133,000& *124 1,133
Ox=&d TAZEX &= 2
50,0002 10070 & 5,000




S SEARA
B AL TAR B
TPl NS SE(MLTTIIQ) (e e
S - BB BR(31) - NSAY - BES S SR b=
=7 SEALS 1,179,316 1,381,316 A202,000
401 AEHIL 0L 1,127,880 1,329,830 A202,000
01 Al&HI 1,125,000 1,325,000 A200,000
=04 1,125,000 1,325,000 200,000
Ot EBLBA 1,000,000 *40024 400,000
OAEHE ASBA| 5,000,00024%57H 2 25,000
Oli+7o S5 M4T B204A A 700,000
OBYUS 4T LIBA
50,000& *4,000m 200,000
OABS W4T =B A
50,0002 *10,000m 500,000
03 A& 208 2,880 4,880 A2,000
=0 A 2,880 4,880 2,000
Olld=+=3 At 208l
400,000,000 *0.72% 2,880
405 KH&HESHI 51,436 51,436
01 T SEFHSHI 51,436 51,436
20 &t 51,436 51,436
O&=% HEI| 7 26,236
O 13m 59, 100&*300H 17,730
O20mm 77,600& x20H 1,552
O25mm 96,8002 %102 968
O32mm 118,400 & *521 592
O40mm 178,600 321 536
O50mm 226,000 x321 678
O75mm 792,000 x3AH 2,376
O 100mm 902,000 & *221 1,804
Ox=Ed JAXNSHED| 2
126,000 *20021 25,200
SEXP sHE KNSaST LAY (M EH (XM EHA 66,000 2,605,280 A\2,539,280
o)
= 20,000
= 46,000
401 B L= 4] 66,000 2,606,280 2,539,280
= 20,000
2 46,000
01 AlI&HI 66,000 2,602,280 A2,536,280
= 20,000
= 46,000
20 & 66,000 2,602,280 N2,536,280
& 20,000
= 46,000
Os0ZE Xlgtata=C LA (ZZXF)
66,000,000 *1J1 2~ 66,000
= 20,000
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2AM:
X XH -
(==l I

ol

[
"
P
o

CFB . GRI(3) - HIRAY - BAS

Ofl oK
(BHH)

L 0f v

(1ZH)

Blw

Ol
0¥

HJ

46,000

e
>
it
[l
rio
™
L
>

HH

741,000

341,000
400,000

890,000

A 149,000

401 Al HIL2THYI

Mo

741,000
341,000
400,000

890,000

149,000

01 Al&Hl

M

Mo

Mo

741,000
341,000
400,000
741,000
341,000
400,000

741,000
341,000
400,000

890,000

890,000

A 149,000

149,000

A

X T s0E NgaC f

HH

402,000
202,000
200,000

214,226

187,774

401 AlEHIYL S THYI

Mo

402,000
202,000
200,000

214,226

187,774

01 A&l

M

Mo

M H

402,000
202,000
200,000
402,000
202,000
200,000

402,000
202,000
200,000

214,226

214,226

187,774

187,774

M H

5,000
1,500
3,500

M H

5,000
1,500
3,500

5,000

01 Al&HI

Jii
=
rz

Mo

5,000
1,500
3,500
5,000

5,000

5,000
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S SEARA
HE: ALCALRE
Ci9ll AAE HE(ALT2II) (cr9): e
S - B - O9I(31H) - HISAY - BES S S HIDE
= 1,500
o 3,500
OFAAHE S SXIXNEAS
1,000,000 *5IH 2 5,000
& 1,500
o 3,500
=22 Ml ¥ F+2 MIAY 600,000 1,010,000 410,000
Al EHIZL L] 600,000 1,010,000 A410,000
01 Al&H| 600,000 1,010,000 410,000
=201 &t 600,000 1,010,000 410,000
222 WM ¥ FeEH0 A 600,000
Otsg 2MAFA =52 WHSAH
200,000,000 14 2 200,000
OEH&H ATHAAS =22t WHISA
100,000,000 * 104 2~ 100,000
OZAH ATHAAS =22t WHISA
100,000,000 * 104 2~ 100,000
OMSH ATHXIHESA =52 WHISAH
100,000,000 *17H 2 100,000
OSMH ATHXHA =52 WHISAH
100,000,000 *17H 2 100,000
I XNYaE Has2Y 25 2,700,000 500,000 2,200,000
= 2,100,000
i 600,000
401 Al&HIZL2OH8I 2,700,000 500,000 2,200,000
= 2,100,000
i 600,000
01 Al&H| 2,700,000 500,000 2,200,000
= 2,100,000
i 600,000
20l & 2,700,000 500,000 2,200,000
= 2,100,000
o 600,000
O%et NUAHE HIAZIY 1=
2,700,000,000& %101 2 2,700,000
= 2,100,000
o 600,000
M0l CHEALS 700,000 1,400,000 A700,000
401 AlIEHIYL 2L 700,000 1,400,000 A700,000
01 Al&H| 700,000 1,400,000 A700,000
=201 At 700,000 1,400,000 A700,000
M0 A
700,000,000 10 2 700,000
CIXIE AHZI| wA 830,000 0 830,000
401 Al&HIZL2OH8I 830,000 830,000
01 Al&Hl 830,000 830,000
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S SEARA
HE: ASEALDR
TPl NS SE(MLTTIIQ) (e e
. . rou 11 0 A .
SH - B S9(3H) - NRAY - BES S cR HIDS2
S0 & 830,000 0 830,000
OCIXE A XA
415,000&*2,000AH 830,000
AR (MESIY) 230,571 228,400 2,171
At Q3RUES 230,571 228,400 2,171
201 LEr23d| 230,571 228,400 2,171
01 AtR2teltl 69,511 84,940 A15,429
20 & 69,511 84,940 A 15,429
Oolget=&4l] 54,932
Oo=ZglH E 2 300,000 *5CH*23] 3,000
Ol 4| 100,000 *4CH*33] 1,200
oAMEZ IUXNAM M ¥ S|
160& 20,0000 * 122 38,400
oNg2=2 LXA X 2
110,000 x 124 A +8E 880
O&=E RIHT S8 23tE MEUI
70,0002 1294 A 840
OLXM &EE =5 FLH|
802 *18,0000H 23] 2,880
Ox+=ZHEI| HEJIE 2= MEHI
200 *17,0000H 3,400
O3 N=S0Id ¥ =&KXl CHUH
AEIFH A 500&*2,00001*25 2,000
OHEI| SHEA =2 2,332
o50mm 0|5t 185,000 & *53] 925
o51mm ~ 80mm 218,000 %33 654
081mm O|&f 251,000& *33] 753
OlXZ==2] 14,579
OMET SSMeR S| 26 axz
2, 7403 35021 959
O3 NS0l 38 =2
130,000&*13| &M+ 12& 1,560
O=2BZHME =22 NS0IM =22
502 13,0002 12& 7,800
O&dte=E 23 AL AIZ =22
80&*3,00021* 123 2,880
QUG- ER3 2AES =42
233 +10,00024+63 1,380
02 S=23l 161,060 143,460 17,600
=0 A 161,060 143,460 17,600
Ol==22322HA] 131,636
02 1XAM €5 28 22
4003 *20,0008*12& 96,000
OSEZ LAAM )| *EZ
2, 74031008+ 12& 3,288
O&D|Z2t DIME =&N AEHZA SDI
E= 2, 7403 x50 S *43| 548
ORI Hel HRE &3 22
200,000 =123 2,400
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SA: SEARHA
M AT
Bl A2 (aE30() (cre &9
< kol SIE] FOH -
SH - B S9(3H) - NRAY - BES S cR HIDS2
OdE AARAAE SHIe3
3502 +7,000& * 128 29,400
O[AIE=YIKXIHI] 29,404
0Rz22l T2 KB4
1,242, 00021122 14,904
0RZA2| T2 M RAIZ4H|
2100002 * 12 2,520
ONMOINSE 253t T208 A R
] 200,0008! * 12 2,400
oudtrE 3ol SXAMHIA T2]
g 1= 9,000,0002 13 9,000
ORIRA CCTV AHEE 50,0002 * 122 600
CllBltl (& =E301e) 40,000 40,000 0
WIEIGT 40,000 40,000 0
801 OilHIH| 40,000 40,000 0
1 etolbIY] 40,000 40,000 0
=, 40,000 40,000 0
QoI (&at==E AFS Ol A
20,000,000&! %15 20,000
QoI (&at=E Xr20lAH)
20,000,0008! %15 20,000
Sl 22 19,268,358 20,518,311 1,249,953
= 8,053,000
pJ 147,230
= 598,600
2 10,469,528
B+EEZE edzel(cl+=E301Y) 311,769 278,089 33,680
Hi+EZY 2dae) 311,769 278,089 33,680
201 Ler2 | 311,769 275,689 36.080
02 S2=2H| 311,769 275,689 36,080
=S, 311,769 275,689 36.080
O[AEZHIRXIHI] 64,309
OUSHHE T ZHD| XS R
el 1,500,000 x23 3,000
OLEHH+EIE A2 S|
5,00021%3, 782 18,910
OUSHIAEIE HIALXIIS SKI2
el 10,000, 0002 x2CH 20,000
OBIR RXI2A2lH| 2,000,000:24BCH 16,000
Obf=+BIE 22 7¢
426,60021x 155 & 6,399
Ols#bl] 247,460
OUEH+EEZE Mz (1Y)
15,000,000& * 12 180,000
OUESH+EEZE MIQa(HY)
2,340,002+ 1228 28,080
Otfi+BIH HI4EN)| ARFAU(SR)
1,9692*20,000 4 39,380
SteHeld 2g2el(otE30IY) 4,901,600 5,396,607 495,007
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SH: SEARA
M GiAE 2o
&l SteHeld 222l (ot=E301Y) (et E
; ot R -
SA - FH - SR(3) - NRA - BES S N imE=]
U= E3ot=xelAld 2Z2t 80,000 535,500 455,500
401 AIEHIZL O] 80,000 516,000 436,000
01 Al&Htl 80,000 516,000 A\436,000
=0l At 80,000 516,000 A436,000
OU2 EAK SO0IAE WHSBA
80,000,000 *1JH 4 80,000
g SSot-H2AE 2 18,000 0 18,000
405 THoHR =4I 18,000 0 18,000
01 AL =S F=HI 18,000 0 18,000
=y 18,000 0 18,000
OsE UFI1 <0 18,000,000 »1CH 18,000
ol=xcld 2g2cl 4,803,600 4,861,107 A57,507
201 ¢et2d| 4,312,578 4,273,494 39,084
01 At22telH 1,898,264 1,771,884 126,380
=0l &t 1,898,264 1,771,884 126,380
OAMRES Febl 20,0003 »22 & =33 1,320
Odt=HelAlE EAk2tel 28 7
50,0002 *85+102 4,000
Oges 2=35d 7Y 100,000& %52 500
Oxcld ¢t E2= NAHI
500,000 *35 1,500
Odt=XelAE Ades a8
42,0003 * 123 504
Odt==HMelAld Zely & SAH| X2
clbl 300,000 *3CH*37H A 2,700
OO0RAIZEN S AL
100,000 »25& 2,500
Odtxcld HNES 2|
4,500,000 »20H A 9,000
Odt==HN2lAE g5kl 42244
3,000,000 x12/*5)H 2 15,000
Odt=XclAlE Mols+ d=2=4|
00,0002 #4310 2 2,800
Odt==XelAlE 2FZ A
2,000,000 *57H A 10,000
Odt=XelAlE XEE =2 E4H|
8,070,000& «50 A+ 123 484,200
OgHod FE= 9,000,000& 12! 9,000
OZdel EI| A
100,000 *12CH*12] 1,200
OLEEI| S AHI 100,000 +8LH*13! 800
OdI &8l EI1E A 6,000
ogg 2,000,000& 1=l 2,000
o= 3,000,000 12l 3,000
OHE< 1,000,000& 12 1,000
OZAIDIA ALZAIE FIIZAI(UE)
400,000 *12] 400
OUII TMS E= S A 3,000,000& 12/ 3,000
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SM SEAYA
M Sl 2l
Sl SlH2lE 2dael(diE301) (S &E
. R . =1 . . Ofl oK & &0 AkoY =
2N -3 -SA(Z) - HRAY - BES (2= o) (J1= o) HnE2
O22AIE CHOISA SZAAHI(HE)
6,000,000 * 12l 6,000
OX2AE Ha ST RHSE 2AHUE)
2,000,000 2! 43! 8,000
Odt=HelAlE MElSH A (e, Of
£) 1,000,000 x20 %122 24,000
Ott+=Hel& BB A
5,000,000 * 12l 5,000
OUEsIaHIAIE ] XIEFEAY
5,700,000%! ¥203] 114,000
Odt=HMelAlE R 2w
1,000,000 *7IH*3H 2 21,000
OAZAIE HEY ZAHI 3,000,000& *13] 3,000
OFI|erdate| tHa| 37,200
oget 1,300,00024x 122 15,600
oue 1,200,00024 122 14,400
Ot 200,0002 x30H A+ 128 7,200
O gorm e e 9,600
oge, e 80,0002 * 122 9,600
OSHBEOIY RUFTAIAHY ST 2e(
tHE) 3500002 * 128 4,200
OHE2I5t=X2IAlL 22|t
515,680,000 *1JH & 515,680
O2R2(012)3t el AL 22| tHa|
300,240,000 *1JH 2 300,240
O#ZE S |XI22| el
4,085,0002 50 A 128 245,100
Ol TMS SXI22! CHedt]
3,750,00024 122 45,000
OXNYEAB=H 3 700,000 %10 2 700
Ol&sl +=¢] 720
OXNEZ o3| &ML
80,0002 x32*33l 720
Ol &nsHI] 4,400
Odt+Xeld 29 HHNS 98
SH 400,000 * 1% 4,400
R S32| 2,414,314 2,501,610 87,29
=G 2,414,314 2,501,610 N87,29
Oudt+= A2 52,800
0ge, Est+X2IAlL
4,000,00024 122 48,000
OBEHLIGt el AL
100,000 #4 ) 2%122 4,800
OQIEHY Mgl AZ2 36,600
OYLattH2IAE L SHEIE
900,0002 * 122 10,800
OtfEdtsralAE L = BZH
900,0002 * 122 10,800
OU=Sdt+H2IAE L SHEIE
30,0002 * 128 3.600

_16_




SH: SEARA
M ol 2tel
o9l staHelE 2YBal(s4ETEIIY) Crel 1
(
. bl S[E] rol
SA - B O9(SH) - NISAY - BES S N HI =2
OZMot=XelAld & SHEZE
400,000 x12& 4,800
OstitatXelAld & SHEZE
150,000 =123 1,800
OALm2ot=HMelAld ¥ SHEDE
400,000 * 123 4,800
Odt=HMelAld SFHABE Jtd|
800,000 *13] 800
OAagrotdae| &3]
48,0002 *3H *13] 144
O&ED|etd2e| &3]
100,0002*3H *13] 300
Odt=HMelAld HDIEXME 53
75 OOO 000&*13] 75,000
O[AIE &HISXIEI]-TMSK Xl 2tel 52,000
O=& S 42,000
o3& HsXA2el 25 WAyl
8,400,000& 50 A 42,000
o2 ™S 10,000
otHol TMS RKXI2E] Wbl
10,000,000& *12] 10,000
OIAEEHIRXIY] 722,850
O=ciXl & &= Hcltl 72,000
oY 400,000 x5E* 123 24,000
o2 600,000 x5E+12& 36,000
o HEHS 200,000 x5Ex12& 12,000
O[Z5t=] 265,345
odteXeld HE wAl&2l & 2=l
5,000& *2,869m 14,345
odteXeld 2XNEE L HMEXHAS
=Xl2eldl 3 000 *38] 9,000
o ZaUdt=Held THE A&
5,000,000& =101 & 5,000
0BIER SAl&elHl ¥ 2=l 48,000
-S0IAE EER 2,000,000 *5CH 10,000
-Ros FYEE 10,000,000 *2CH 20,000
-2l BER 5,000,000 »2CH 10,000
=Xl 0|&SBES 1,000,000 *8CH 8,000
oUZBEHY AMAE wA&2H ¥ 24| 98,000
-& AKXl &H| 10,000,000& * 101 2 10,000
—HEAHHINH FXl2ta
2,000,000 *5IH 2~ 10,000
—4hek3 Ah| 10,000,000 & 24 2~ 20,000
-XSEEX &| 5,000, 0002 #3701 & 15,000
-s=5X4| 5,000,000 *20H 2 10,000
—E4J] & 2HEHl |X2
4,000, 0002 *2CH 8,000
-EQIXelAIE 15,000,000 & 104 & 15,000
__)‘\_%/\ Hl E.H.l_L J.LX‘”
1,000,000 *109H £ 10,000
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SAL AEAIRA
mu: gk ol
D9l SlaHRlE ERl(saERIIY) (e e
B . R . Chl(B]H]) - M LA Off koK & E S0l &y
2A -3 - c(3H) - HEAMY - BES (FH) (j|§2ﬂ)ﬁ HnE2
o=t =2 |AZcl ¥ S
2,000,000 2 =6CH 12,000
oXelZ &H| izt |Al2el ¥ E=H|
5,000,000&*13] 5,000
oHIAZAMI| E=H| 2,000,000& 1CH 2,000
odsYE E=H| 800,000 » 10CH 8,000
o JIHI£Hl |Xl2eltl
100,000 708 7,000
o MJ|&Hl |RXl&eltl
200,000& 208 4,000
oUPSSXl2teltl 1,000, 0002 *3CH 3,000
o HAMA HH| ®Xl2el ¥ B
15,000,000 * 101 2 15,000
oSCIAAE FX2el ¥ 2|
10,000,000 *17H £ 10,000
oXMeld H=EI| dM Wk
2,500,000& 45 10,000
0 ERANE AZTNHSFLEX Al
cl & 2==H| 10,000,000& * 171 2 10,000
o tF EF AL AHl A2
5,000,000& *12l 5,000
O[tH=ot=+] 385,505
olH=ot=HXelE 22 |Xl2el & B
gl 5,000&+8,541m’ 42,705
oot=Xeld X M=XY & 72l
Bl 6,500,000 *33] 19,500
oot=Xcld &=+ |AlZeltl
6,000,000 *33] 18,000
02FSHELY 2HE |Al2e| & B
Bl 700,000 *30H 2~ 2,100
0RYUS FUBT SXPa
10,000,000& *4CH 40,000
olURC S22 4,000,000 *2H 8,000
o0 LEXMCIAIE KXl
4,000,000 #2201 8,000
oAUBEYE M= ®RA2cH & E=H| 118,000
-ZAHK &HI 10,000,000 *17H £ 10,000
—HEZHION FAl2c
3,000,0002* 1074 £ 30,000
-ZESE MK £l 7,000,000 *4JH 2~ 28,000
-sEx4H| 15,000,000 *27H £ 30,000
-0 & 2U&H sX2
5,000, 000& =4CH 20,000
o=zt =2 |A2cl ¥ B4
2,000,0002*10CH 20,000
oXelZ &H| izt |RAl2el ¥ E==H|
5,000,000 23| 10,000
o KIAIXE, &SE&CIA0| KXl
1,200,000 *1CH 1,200
oXMelE SOIAE gAl&el & 22|
100,000 *207H £ 2,000
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2H FEARA
M o=k 2l
Sl Shd2lE 2gRRl(sHEE0IY) ol el
x s oy & S0t
=] - M .G 5 = . HAS 0f] AkoH o =
o JIHIEHl |XlZeltl
500,000& %305 15,000
o MJ|&Hl |XlZelt]
800,000& 203 16,000
oSHEZE SHMEH |22/
500,000 *269H 2~ 13,000
oCCTV =Xl2teld] 200,000 304 2 6,000
o MIHMEMAH| 72l
4,000,000 #4JH 2~ 16,000
oUPS HXl&teldl 1,000,000 *5IH 2 5,000
oHIEZE F&Hl 2,500,000& * 102 25,000
Ox2ZAE |XIE=H 103,000
O3J1=I| 22 ¥ 2w
4,000,000 *43] 16,000
O=dX 0IsEZE +2ld
5,000,000 *2CH 10,000
ORQESI| Xl MZE 2 &X
5,000,000 *1CH 5,000
oA HAWLUEAD| HEE WX
25,000,000& *13] 25,000
OZ2&1D| i XAzl
1,500,000 & *43] 6,000
ox2Zz 2T 4HIM WH
5,000, 0002 *1CH 5,000
OEZXZHU & dAHH |Xl2el
10,000,000 *17H 2 10,000
OAZAld =2 WXl
5,000,000 * 14 & 5,000
OAHAIIUEAID| 2Ec| BWE WXl
1,500,000 *2CH*23] 6,000
OAL2ZAE S22 FSA & JIAHS
-+ 2,500,000 63l 15,000
OetF 5 AIE £H] RXl2cll
5,000,000 +13l 5,000
Odt=HMelE CHMAIZE e
9,000,000 * 101 2 9,000
O[AN&EEISXIHl]—0I2 108,800
OJIHAH A2l & E=:tl
500,000 *37IH 2 18,500
onHEE X2l ¥ 2=l
100, 0002 *100CH 10,000
OA=4dl & |EH |A2c| & 24|
400,000 #3794 2 14,800
oMJ|Ed SXl2cl ¥ E=:tl
500,000 #3794 2 18,500
O+s4dl |A&c ¥ 2=l
1,000,000& 3791 2= 37,000
OA=)| &8Hl E= 1,000,0002* 1074 £ 10,000
O[AN&EBIS XLl ]—4I= 47,650
OJIHAH A2l & E==Hl 22,000
oEI FXl2tltl 500,000 *20CH 10,000
o &=J| =Xl2cldl 4,000,000 *1CH 4,000

_19_




2AM:

H: ol 22
Sl StEXelE 2d2el(dtEZ201Y) (&9 &
) _ Fou 4L O O AFOH
S - BB O9(3) - NEAIY - BAS (ggoj) 5(3|§°1',j)ﬂ HDE2
0SS ED| RAl&2lH] 4,000,000 =2CH 8,000
OHEEH RAl2el & B2d|
735,000 x20CH 14,700
OKl= SHELEE X122 & 24H|
300, 000& *24CH 7,200
OMI|&H|l |Xl2eld]
62,5002 *20E*33| 3,750
O[AELEHISXIH|]—&Hat 34,150
OJIAHAHl |Xl&el & 21| 22,000
oI SXl&2d| 500,000 *20CH 10,000
o g=D| KAl&2lH] 4,000,000 =1CH 4,000
0SED| X2l 4,000,000 *2CH 8,000
OHEAEHl &Xl&el & 24H|
700,000 *6CH 4,200
Oshpt SHEZE X 2el & 2=
300,000 = 14CH 4. 200
OMI|&H|l |Xl&eld]
62,5002 x20E *33| 3,750
O[ANELEYISXHI ]—2A 46,850
OJ|AHAHl |SXl&el & 22=H| 22,000
OEI SXl&2dl 500, 0002 *x20CH 10,000
o &40 KXl 4,000,000 =1CH 4,000
05 ED| KXlZel] 4,000,000 *2CH 8,000
OdtE=HelAE 22X H=&HHHE A&
2l dl 1,000,000 *33| *30H &~ 9,000
OH=E&Hl |Xl&el & 24H|
700,000 *6CH 4. 200
OZA SHEEZE FX2el ¥ S|
300,000 «28CH 8,400
O&I|I&H| |Al22d]
65,0002/ x10E+53] 3,250
O[eZ2H| - &R 4 531
OHlAIZED| HA2H[(Z )
1,9694+80 £ ~10A| 2t 1,576
OHlAIZED| HA2H|(AE)
1,969&4+50 £ 10A| 2t 985
OHIAIZED| HA2H|(SHAH)
1,9694+50 £ 10A| 2t 985
OHlAIZEED| HA2H|(2A)
1,969 50 £ = 10A| 2t 985
O[e2H| - Jtsel] 2,823
O Z&YH| HA2H|(d9Y)
1,881&%10 £ x15 «2CH 565
OSEZH| HZ2H(US)
1,881&%40 4 »30& 2,258
O[==H]] 1,112,016
oot StEHed HMIIRE
10,000,000« 12& 120,000
OUE ot=Held M=
60,000,000 x6& 360,000
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SH: SEARA
BH: 5T B2
o9l staHelE 2YBal(s4ETEIIY) (9l &2
. roy 1 2 0 -
SA - B O9(SH) - NISAY - BES S N HI =2
OliE2 2+ HEEY MIIR3
11,000,000 x12& 132,000
OUISSt=XelAd &S
2,700,000& x12& 32,400
OL=SSHEIZHY MIIRI
75,0002 * 120 2+ 12 10,800
Ostitgt=XelAld &S
3,000,000 12& 36,000
OSHIESHEILY MIIRE
180,000 *8 A+ 122 17,280
OZMGt=XelAd &S
5,500,000 = 12& 66,000
OTZANSHEZH MIIRI
105,000 x100H A+ 12 12,600
O0ISat=HelAld &IIRS
250,0002 *370 A+ 12& 111,000
OO0ISots SHEISE MIILZ
68,000 *210f 2+ 128 17,136
OtEg A2AE BxHE F2(ING)
8202 *40,000m" x6& 196,800
202 04| 29,600 34,800 A5,200
01 =W 29,600 34,800 25,200
204 & 29,600 34,800 A5,200
OgdotexelAld HRFEYI
20,0003 *4ZH 1002 8,000
OU=ot=xelAld HRFE0|
20,0003 *4H 1002 8,000
OHE2GtHelAld dRFR0YI
20,0003 =3 1002 6,000
Odt=HelAld =&EZAt AIZTHF O]
20,0003 =2 *1002] 4,000
OdteXelE 2 HEWE 0l
120,000 +5 L 6% 3,600
206 M=l 168,922 196,813 A27,891
01 =4l 168,922 196,813 A27,891
20/ & 168,922 196,813 A27,891
Oot=HelAld = 22 EHIE M=H
e 10,0003 =100 »32! 3,000
Ogrolors ol AH|orE 7e)(F, T,
o) 400,000 x23| 800
OgesterelAld 2EH| 41,298
O S & HI(PAC) 2202 x120kg*365 9,636
OL=NSEH 5,610 *x6kg*3652 12,286
OLRDUMLIEE 4512 *110kg*3652 18,108
O=x&2A 6, 3403 x200kg 1,268
OU=dtHelAld 23| 123,824
oRaz 473,0002 x8E+62] 22,704
O HStARA 180& *200,000kg 36,000
O&AM(LEXZI) 12, 1003 *200JH 2,420
OS&HI(PAC) 2502 x230,000 £ 57,500
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S SEARA
B olrE 22
Cigl: SIATRIE 2RB(GEERII) (e e
: 5 oy 311 2 0 44 .
SA - BB S9I(EN) - MRAL - BYS S cR HIDEY
| oz 6,500 10kg =80 5,200
207 AR 292,500 202,500
01 A7 ZAH| 281,000 281,000
=0l & 281,000 281,000
Odt=Hel A4 DA S9H|(H2,
ERL, 4E, o) 26,000,000 #4014 104,000
Odt=HelAlE AFI|SXE EA(US)
20,000,000 * 10 2 20,000
Oot=XclAlE AIE=S FIIMNEH S
5,000,000 *4JH 2423 40,000
Odt+HelAlE ZUEEY SA(ZA,
SHaH) 29,000,000 #2014 58,000
O=2& ™S =A2c| e 2IotHatE =9
8,000,000& 12/ 8,000
OUEastrseiAl A2AIE SEEE 0
oot Bid 89 21,000,000&+12 21,000
OliE M- HM A SA(Gt4=H el
. Bi=EEE) 15,000,000 #2044 30,000
03 A&l 2H| 11,500 0 11,500
=0l & 11,500 0 11,500
Olti2ats Al TI] 11,500
O&Ed =7 7
10,000 x255+43] 1,000
O&Sa A 10,0003 x755+22 1,500
O24IIE At 1,500,0003 *4SET 6,000
O&Es BN 2
20,0002 25523 1,000
OAYA JHl |XZeld
100,000 x105+22 2,000
St=2t)1 FHI(Gt==3019) 6,476,046 11,588,601 N5,112,555
= 1,959,000
Il 98,708
s 4,418,338
St=Mel RS BH==&HIOH 22 At 74,000 73,000 1,000
201 ¢et2d| 4,000 3,000 1,000
01 AbR2teld] 4,000 3,000 1,000
=0l &t 4,000 3,000 1,000
OEAEAN MM Y HES ATEY (A
TOCAD, EST) =& 1,000,000 +4CH 4,000
401 AlEHIZL SO 70,000 70,000
01 A&l 70,000 70,000
=0l &t 70,000 70,000
Odt=Hel 7S =&l JHES At
70,000&+1,000m 70,000
C=ote2t2 | 296,400 242,000 54,400
= 275,000
Il 21,400
401 AlEHIZL O] 296,400 242,000 54,400
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S SEARA
M St 2l
Ol SlB0 BHI(SIHE2II9) (e e
S - BB BR(31) - NSAY - BES S SR b=
= 275,000
J| 21,400
01 Al&HI 296,400 242,000 54,400
= 275,000
J| 21,400
=0 A 296,400 242,000 54,400
= 275,000
J| 21,400
OL-=ot=22Z HHISAL
296,400,000 =1 A& 296,400
= 275,000
J| 21,400
NS FEXF St-22Z FHIAY 378,000 453,047 NT5,047
= 189,000
J| 9,813
= 179,187
401 AIEHIL 0L 378,000 453,047 AT5,047
= 189,000
| 9,813
= 179,187
01 Al&HI 326,000 403,047 NTT7,047
= 189,000
J| 9,813
= 127,187
=0 A 326,000 403,047 NTT,047
= 189,000
J| 9,813
= 127,187
ONE EEXF ot=2ZZ FHIAIY
326,000,000 1 A&~ 326,000
= 189,000
J| 9,813
= 127,187
02 Zclbl 50,000 50,000
20 & 50,000 50,000
ONES BEXF t=-2HZ HHIAIY 22|
a]l 50,000,000& *13] 50,000
03 AI&2UbI 2,000 2,000
20i & 2,000 2,000
ONS EEXF? ot=-2Z FHIA Al
LY 320,000,000 *0.625% 2,000
&S ST Stz JHIAIY 1,897,000 6,100,000 24,203,000
401 AIEHIL 20| 1,897,000 6,100,000 24,203,000
01 Al&H| 1,897,000 5,584,600 3,687,600
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SH: SEARA
Y. Sk 2
Crel: SR | (ST 2Tl (9l &2
S - B S(B) - NIRAR - BHAS (ggj) @%ﬁg‘”ﬁ‘” D=2
S0l A 1,897,000 5,584,600 N3,687,600
O [Al&HI] 1,897,000
OHs ST ot YA
1,897,000,000& *1JH A~ 1,897,000
gtz Hel ¥ 22HXF dl=2= HBIAIY 2,440,646 3,765,554 1,324,908
= 1,305,000
J| 67,495
= 1,068, 151
401 A2 200 2,440,646 3,765,554 A 1,324,908
= 1,305,000
J| 67,495
= 1,068, 151
01 A&t 2,135,646 3,653,554 A 1,517,908
= 1,305,000
J| 67,495
= 763,151
=0 A 2,135,646 3,653,554 A 1,517,908
= 1,305,000
J| 67,495
= 763, 151
O [Al&HI] 2,135,646
0¥ Ae| & X7 ot FHH|
AHH 2,135,646,000& * 101 A~ 2,135,646
= 1,305,000
J| 67,495
= 763,151
02 22| 300,000 100,000 200,000
=01 A 300,000 100,000 200,000
Oger de| & AP o222 A
AR Zeld| 300,000,000 *13] 300,000
03 A& S0HYI 5,000 12,000 A7,000
S0 A 5,000 12,000 27,000
Oget de| & AP o222 JH|
AP AlE £ 0HH| 2,000,000, 0002 *0.25% 5,000
M= HSKF ole=22 ALY 190,000 0 190,000
= 190,000
401 AlEHIZL L0 190,000 0 190,000
= 190,000
01 AlEHI 190,000 0 190,000
= 190,000
S0 A 190,000 0 190,000
= 190,000
OXE MSXP o422 AHH|Z2AH
190,000,000 * 101 A 190,000
= 190,000
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S SEARA
B olrE B2
B9l SR (ST EIIY) (e @2
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
ot S EH| JI=2HE(HA) 500,000 0 500,000
401 Al&HIL L0 500,000 0 500,000
01 AlEHI 500,000 0 500,000
=0 A 500,000 0 500,000
Oga>? ot H™H|ID|I2HE(HE) 24
500,000,000& *1JH A~ 500,000
LS ol AMEZE WHELEZSA 100,000 100,000 0
401 Al&HILL0HY| 100,000 100,000 0
01 Al&H] 100,000 100,000 0
S0 A 100,000 100,000 0
L= otk AMAEZ2 WUHEsSAt
20,000,000 x5 2~ 100,000
T ELZAl 100,000 100,000 0
201 LEt2AH| 100,000 100,000 0
02 3249t 100,000 100,000 0
S0 A 100,000 100,000 0
Oz =4| 4,000,000 x25JH 2 100,000
QU2 BLZ2AL 100,000 55,000 45,000
201 LBt Ab| 100,000 55,000 45,000
02 2324t 100,000 55,000 45,000
S0 A 100,000 55,000 45,000
Oz B4H| 5,000,000 %2004 &~ 100,000
o2t J|=&IC 400,000 400,000 0
401 Al&HILL0HY| 400,000 400,000 0
01 Al&HI 400,000 400,000 0
=20 A 400,000 400,000 0
Odt=22 I8
400,000,000& *1JH A~ 400,000
SUHE OISot=T YA (B=E201Y) 7,324,043 3,215,014 4,109,029
= 6,094,000
| 48,522
== 598,600
= 582,921
M2 SEXF sHEOIS ol HHIAY 5,707,000 996,000 4,711,000
= 4,977,000
& 502,800
= 227,200
401 Al&HIYL 20| 5,707,000 996,000 4,711,000
= 4,977,000
== 502,800
= 227,200
01 Al 5,599,000 890,000 4,709,000
= 4,977,000
& 502,800
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S SEARA
M St 2l
S©2: sOE 0ISotaT FUIAIE(BI=E201Y) (Gt &
SA - BB S9(3H) - MRAE - BaS S SR b=
= 119,200
20 & 5,599,000 890,000 4,709,000
= 4,977,000
& 502,800
= 119,200
Odls =X+ sHELE ot+=% JH|
Ard 5,599,000,000& 14 2 5,599,000
= 4,977,000
= 502,800
= 119,200
02 Z2lbl 100,000 100,000
S0j &t 100,000 100,000
Odl=E ask+ sHEDNS ot+=% EH|
A 22l 100,000,000& *13] 100,000
03 A& =208 8,000 6,000 2,000
S0 &t 8,000 6,000 2,000
Odls ask+ sHELE ot+=% JH|
A AIE20HYI 5,000,000,000& *0. 16% 8,000
0|2 EX7 sHE 0tE2ote=& JHIAIE 700,000 598,000 102,000
= 400,000
& 34,200
= 265,800
401 AIEHIZL S0 700,000 598,000 102,000
= 400,000
= 34,200
= 265,800
01 Al&HI 597,000 543,500 53,500
= 400,000
& 34,200
= 162,800
=0 A 597,000 543,500 53,500
= 400,000
& 34,200
= 162,800
O [AI&EHI] 597,000
o0l 2K+ sHEOE o= ¥
HIAFS 597,000,000 *1JH 2 597,000
= 400,000
== 34,200
= 162,800
02 Z2lbl 100,000 50,000 50,000
S0 &t 100,000 50,000 50,000
Ol 22X+ sHE0I= ot=% JH|
At 2Z2lbl 100,000,000& *13] 100,000
03 Al 2CHYI 3,000 4,500 21,500
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S SEARA
B olrE B2
Sl sOHE 0IS6kE UM (BIE=E201Y) (& d
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
S0l A 3,000 4,500 21,500
ODj 2417 SOEDS SH4E Ji|
A AIEE20HH] 600,000,000& *0. 5% 3,000
S 237 sHE0IS6l=E EHIAIEY 9,451 159,014 A 149,563
J| 9,451
401 Al&EHIL 200 9,451 159,014 AN 149,563
J| 9,451
01 Al&H] 9,451 159,014 A 149,563
J| 9,451
=0l A 9,451 159,014 149,563
J| 9,451
O[AI&HI] 9,451
OEX 2SXF? sH=E0I2 o=k &
HIAFY & A ] 9,451,000& *1H & 9,451
J| 9,451
SHAF XIAK T sHEOIS0e=T EHIAY 310,449 920,000 A609,551
= 261,000
J| 27,049
= 22,400
401 Al&HILL0HY| 310,449 920,000 A609,551
= 261,000
J| 27,049
== 22,400
01 Al&BI 310,449 815,000 AB04,551
= 261,000
J| 27,049
o= 22,400
S0 A 310,449 815,000 504,551
= 261,000
J| 27,049
& 22,400
Ostal XIAKF? sHE0IES0=E E|
A 310,449,000& * 104 &~ 310,449
= 261,000
J| 27,049
= 22,400
=23 X (2HH) sHE0ISol=E HHIALE 222,000 242,000 A20,000
= 111,000
J| 11,479
& 9,600
= 89,921
401 AIEHIZL L0 222,000 242,000 220,000
= 111,000
J| 11,479
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SA SEARIA
HE: sl 2
&2 s0E OiSols=X dUlAIE (ol==301Y) (e
SH - B S9(3H) - NRAY - BES S SR HIDS2
== 9,600
= 89,921
01 A& 191,000 210,500 219,500
= 111,000
J| 11,479
& 9,600
= 58,921
=0 A 191,000 210,500 219,500
== 111,000
J| 11,479
& 9,600
= 58,921
O [Al&HI] 191,000
023 O X2 (2H) s0HE0IS0ts
T HHIAE 191,000,000& *1JH A 191,000
= 111,000
J| 11,479
& 9,600
= 58,921
02 Z2ldl 30,000 30,000
20i & 30,000 30,000
O23 OoI& X7 (22H) s0H=E0IS0t=
T UM 2Zeldl 30,000,000& *13] 30,000
03 A&t 1,000 1,500 A500
201 & 1,000 1,500 A500
O23 OoI& X7 (22H) s0{=0I=0t=
S HHIAML AIE20HYI
190,000,000 *0.526% 1,000
AlE A4X7 sHE0IE6=S EHIAIY 375,143 300,000 75,143
= 345,000
J| 543
& 29,600
401 AIEBIZ U] 375,143 300,000 75,143
= 345,000
| 543
& 29,600
01 Al&H| 375,143 300,000 75,143
= 345,000
| 543
= 29,600
20l & 375,143 300,000 75,143
= 345,000
| 543
& 29,600
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S SEARA
B olrE B2
S©2: sOE 0ISotaT FUIAIE(BI=E201Y) (Gt &
S - BB BR(31) - NSAY - BES S SR b=
OAlIE E2XI7 sHEDSo+=S Jh|
A 375, 143,000& * 10 & 375,143
= 345,000
| 543
== 29,600
MAS 2EMHFAIL(SI=EB1Y) 214,900 0 214,900
CHEAIHE X 2SS MHSAIE XA 214,900 0 214,900
401 AIEHIZL 20| 214,900 0 214,900
01 Al&HI 214,900 0 214,900
204 & 214,900 0 214,900
OUSALCH 2FHRAIE XA ("
20 2HIWES) 214,900,000& 1 &~ 214,900
olgigl(at==321) 40,000 40,000 0
(G:{ls])s] 40,000 40,000 0
801 ollglyl 40,000 40,000 0
01 Btalibibl 40,000 40,000 0
20i & 40,000 40,000 0
Oolldlbl (o= AFZ 0l AF)
20,000,000& *13] 20,000
Oolldlbl (o= K20l Af)
20,000,000& *13] 20,000
YA (=T AIEA) 6,401,428 5,910,865 490,563
olESAY|(AE)(MA==3D(Y) 3,334,217 3,072,881 261,336
ol 29| 3,334,217 3,072,831 261,336
101 Q14| 2,667,804 2,573,657 A, 147
01 2= 1,444,832 1,353,009 91,873
=0i & 1,444,882 1,353,009 91,873
opleal] 983,885
052 (30&8) 5,054, 7002 x1H* 128 60,657
063(3sE) 4,470,300 x10Y 12 536,436
o73(3083) 4,015,500 x6H = 12& 289,116
0o82(753) 2,267 , 4002 x2H 12 54,418
09245 8) 1,802,400 »2H = 12& 43,258
O&F2Y (18,78 ,50%)
81,990,416 & x50%*23] 81,991
OJEY 41,520
OB At 40,0003 *18Y *12& 8,640
ORYII=E 32,880
0 RLI=E 20,0002 «52% x12& 12,480
0 R AUINE(EM) 60,0003 *20H *12& 14,400
0 2AIIE(AM) 100,0002 x5H x 12& 6,000
OoOFII2E5+Y 21,120
02030/ &t 100,000& * 12 »12& 14,400
O 15404t 80,000 x4H +12& 3,840
010&=0|4 60,0003 *4H +12& 2,880
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SM: SEAA

S 2= AE L)

Crel: ol 2 oH| (A4 )(M+ERI9) (Sl &
= . B9l(31) - MRANY - BaS s S HIDE
O&EIIZE=E FIPZ 4,800

02504t 30,0003 10 12& 3,600
0200] &t 10,0003 *10Y + 12& 1,200
Oz 2I=Y 18,630
os=t® 4,470,300 x4 *4 1%+ 123 8,798
o62H< 4,015,500 x4H *4 1%+ 12 7,903
o=l 3,919, 2002 x 1H »4 1%+ 12& 1,929
OSgR=g 32,520
ootMae|=EH(EI-H)
30,000 x3Y 123 1,080
ootd &L |=H(MI|-8)
20,0002 x2H + 12& 480
OotM | =S DAItA
20,0003 x3 123 720
ORALL(ATHE A4 Ha
120,000&+21H* 128 30,240
SUEEEEIE-EE
40,000 x8E+12& 3,840
O&elgRse 5,054, 7003 15 »Q%x 12 5,460
OAZt2 224 82,188
0O6= 12,3213 *10F *x30A[ 2+x 12& 44,356
o7= 11, 130R «6Z *30A| 2H+ 12 24,041
08= 9,992 x2H+30A| 2t 123 7,195
09= 9, 1603 x2H *30A| 2H* 123 6,596
OFAZAH| 140,000 219123 35,280
OHEESOt| 98,390
052(3023) 5,064, 7002 * 1 x60%+23] 6,066
062(32ss) 4,470,300 * 10 x60%*23] 53,644
073(3083) 4,015,500 x6% x60%+23| 28,912
0o82(7a58) 2,267, 4003 x2H x60%+23| 5,442
092(4s3) 1,802, 4003 2 x60%*23] 4,326
O 24| 35,258
053(30&3) 168,490 » 1 x86%+* 15 2,174
062 (RNes) 149,010% * 10X +86%+ 15 19,223
o720z &) 133,850 *6H *86%* 15 10,360
083(783) 75,5803 *2H +86%+* 15 1,950
09245 2) 60,0802 *2H *86%* 152! 1,551
2 JIEt& 2= 483,986 473,616 10,370
Ol & 483,986 473,616 10,370
ope2l 288,849
OFHA(3153)23H0| 4
4,000,700& x3H = 12& 144,026
OFHA(17538)15H0[ 4
3,041, 100& x3%*12& 109,480
O&FZ(182=)1540|0¢
2,945,200 x1H 128 35,343
Oo&Fz2+Y 24,070, 7503 x50%*23] 24,071
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S SEAA
mu: SN2 A (FEARL)
Cigl: Olteebl(A4T)(ASTR)I9) (e @2
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
O[=¢] 58,470
ONEY 13,920
o HH Xt 40,0003 «6H 123 2,880
0 RLI=H 20,0003 *13%12& 3,120
0 2AIIE(EM) 60,0003 «6Z 123 4,320
0 RIS (AM) 100,000 x3¥ *12& 3,600
o&I|I2E+Y 6,840
0200 & 100,0002 x3H + 12& 3,600
o 15014 80,000 x2H +12& 1,920
o0 10E 0] &t 60,0003« 1+ 123 720
o5H0l 4t 50,000 x1E+12& 600
O&IIZE FIHZ %60
02501 & 30,0003 x2Y 123 720
020E0] & 10,0002 x2Hx 12& 240
SR 10,080
o&elsg 120,000 x7H*12& 10,080
OAZtRI2R4=E (I 210AI2HZ1DI20AI2H) 26,670
oA E(1E2)284 0|4
11,2722 *3B*30A| 2++ 123 12,174
oA E(17E3)15H0| A
10, 2472 *3Z*30A| 2++ 123 11,067
o HAHE(182=2) 154 Oet
9,523 x 1 «30Al 2t 12& 3,429
O[dH3AHI] 11,760
(ORSEF=gaa] 140,000& x7H x 12& 11,760
OlYEEIIHI] 28,836
O&AH(31E22)23H0| At
4,000, 7003 *3H x60%*22] 14,403
OFZE(17E28)1540| 4t
3,041, 1003 *3H +60%*23] 10,948
OXHA(183)15=0(2¢
2,95, 2003 *1H +60%*23| 3,535
O[HItE2 AlHI ] 10,352
OFHA (315 E)23H0| 4
133, 3562 *3H x86%* 152 5,161
OB (165 E)15H0[ 4
101,370 *3% x86%* 15 3,924
O&HZ(182=2)1540|0t
98, 17331 »86%* 152! 1,267
O[&2+3Ad] 14,100
OXZEXHI(FA 165,0002 x3¥ x 12& 5,940
OZXZEXHI(EH) 155,0002 x4H « 12& 7,440
OXAZE &Y 30,000& x2H = 12& 720
OSZYR+ =]
80,0003 x7H*123 6,720
oung:sd 443,208,000 *1.8% 7,978
OF|ZE W=0I 100,000 «8H x5 4,000
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S SEAA
B sES oA (SEAL)
Cigl: OISOl (445) (44T RI|) (e e
SA - EH - CR(B) - NRAY - BaS S SR RS2
OFAZE GRFX0YI
20,0003 +8H x 15 x12& 28,800
03 SRA(RIIAHeH 22 NHES 738,936 747,032 A\8,096
=0 & 738,936 747,032 8,096
@PJR== 2,401,750 x 16 122 461,136
OFz2Y 2,401,750& x 16 x50%*23] 38,428
OFSF=Es={ /X r=)] 80,0003 x16H12& 15,360
OFHZAH| 160,0003 16 * 128 30,720
O&gag 70,0003 x16H12& 13,440
OEsg2Y 120,000 * 16~ 12& 23,040
OZEF It 2,401,750 x16H *75%*23] 57,642
OJEY 23,040
OBl Xt 40,0003 *12Y 122 5,760
ORYII=H 20,0003 *32H »12& 7,680
ORLIIE(EM) 60,0002 «10¥ 122 7,200
O AIIE (M) 100,000 x2H x 122 2,400
OAzt2 224
23,7703 *5A| 2t 16H x 12 22,820
O% Xt 126, 7703 *16H+ 18 36,510
(OF=F=10:1s] 100,000&* 148122 16,800
204 XA 69,480 66,600 2,880
01 M= FH| 1,200 1,200 0
=0 A 1,200 1,200 0
OXMZHRFEXH| 100,000& x1H + 122 1,200
02 M=22x| 43,320 40,440 2,880
=0 A 43,320 40,440 2,830
GIES=1==EN 1] 43,320
Ol1=1 250,000& x 1 12& 3,000
o6z 175,0003* 108 *12& 21,000
O¥=1 165,000 x5 * 122 11,880
Olr=: 155,000 »2H 122 3,720
09%= 155,000& x2H *12& 3,720
03 SELREH| 24,960 24,960
=0 A 24,960 24,960
OS&EYRELI 24,960
OO0l & 2k, 2o HREY e FH|
80,000 x3H+12& 2,880
ORI UAEY +HaSH|
80,000 x1H+12& %60
OZIEIIEY S|
80,000& x1H 12 %60
O3IIEBAHA SEE R+ S|
80,000&x21H x12& 20,160
4 HA=REY3S 5%6,933 432,624 164,309
01 H28<2 427,796 354,148 73,648
=0 A 427,796 354,148 73,648
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S SEAA
mu: SN2 A (FEARL)
TPl QIS oly|(A4T)(MEETI|2) (el me
S - BB BR(31) - NSAY - BES S SR b=
OHIZIRES 2,199,120,000& *%% 197,921
osda3 2,199,120,000& *7.277% 160,030
O&&+YREZ 2,199, 120,000 *2.983% 65,600
Ol EAREZ 2,199,120,000& *0. 193% 4,245
02 FRIHLEEHS 87,525 78,476 9,049
20 & 87,525 78,476 9,049
OSggs= 2,199, 120,000 *3.98% 87,525
04 SLA(RINHS) 22X BEEs2H2 S 81,612 81,612
S0j &t 81,612 81,612
OZeRIRT 2T LY
722,136,000 *4. 5% 32,497
OZLNDRT ALLH 2o
722,136,000 *3.98% 28,742
O3RAIZZX 128 2Y3
722,136,000&*1.8% 12,999
OZRIZZA M HEE RES
722,136,000 *1.021% 7,374
ol 2| (ote=E)(ol==201g) 2,443,047 2,251,763 191,284
ol 2| 2,443,047 2,251,763 191,284
101 el 1,886,553 1,754,795 131,758
01 B 1,313,066 1,197,444 115,622
S0j &t 1,313,066 1,197,444 115,622
oJlEgs 884,184
o062 (=) 4,470,300 x5F + 12E 268,218
o7r2(8ss) 3,948,600 x8H » 12& 379,066
0o83(1652) 2,975,900 4H 128 142,844
093(653) 1,959,500 »4H 12& 94,056
OF 218,78 ,50%)
73,682,000& x50%*23] 73,682
OJEY 37,680
OB At 40,0003 16 =122 7,680
ORLIt= 30,000
0 RLI=E 20,0002 «52% x12& 12,480
0RAUINE(SM) 60,0003 *16H = 12& 11,520
0 2= (M) 100,0002 x5H x 12& 6,000
OFII2E+Y 17,640
020=0] &t 100,0002x9H x 12& 10,800
O 15404t 80,000 x4B +12& 3,840
O5E0( 4 50,0002 x5H 122 3,000
O&EIIZEE FIP3 2,520
0254 0|4 30,0002 x6H = 12& 2,160
0200] &t 10,0002 x3H + 12& 360
Oos2I=Y 12,111
052 U= 4,340,700 x2Y *4 1%+ 123 4,272
o062 U= 3,982,800 x4 4, 1%+ 12E 7,839
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2N =EAIEA
TR BHSAHH|(STARL)
Cigl: QIS (3125) (SHe T 2I/91) (£ &8
SA BB SRIEN) - HRAR - BAS S S HIREY
OSgRsg 1,800
OXMII(H) 30,0003 x 19+ 123 360
O&EII(F) 20,0003 x3 123 720
ONYIIA 20,0002 x3H 123 720
O&d=4 36,360
Odt+=% 120,000 »4H 12 5,760
Odt==xcl 150,000& *17H = 12& 30,600
OfIEz2R2+2 (U256t
50,0003 =17 *12& 10,200
OAIZIeI2R+Y 81,813
06= 12,3213 x5F*30A| 2H+ 128 22,178
o7= 11, 1302+ *30A| 2++ 123 32,065
08= 9,9 x4H+30A| 2H 123 14,389
09%= 9, 1603 *4H+30A| 2t 12 13,191
OFAZ Al 140,000& 21« 12& 35,280
O E SOt 88,420
063(325 ) 4,470, 3002 ¥5% x60%+23] 26,822
orz2rss) 3,948, 600 x8H x60%*23| 37,907
083(1653) 2,975, 9003 x4 x60%+23| 14,285
09265 23) 1,959, 5003 *4H +60%*22] 9,406
OS2 4| 31,376
062 (25 3) 149,010 x5S x86%+ 15 9,612
orz2rss) 131,620 8 86%+ 15 13,584
083(1653) 93, 1963 *4 X »86%* 152! 4,809
092 (6523) 65,3163 *4 X «86%* 15 3,371
2 JIEt & 2 573,487 557,351 16,136
20/ & 573,487 557,351 16,136
OPE=t= 343,092
OFA(16E ) 15F0| 4
2,979,700 x1H*12& 35,757
O&Z(20&52) 15402k
3,201,400& x8H = 12& 307,335
(OFS It at=y 28,591,000 x50%+23] 28,591
o= 46,200
oits=4 23,520
o i Xt 40,000 x8E +12& 3,840
o RLIE 20,0003 *36H + 12& 8,400
0 RAUINE(EM) 60,0002 x99« 12& 6,480
0 LI (AM) 100,0002 x4 H x12& 4,800
o&IIZH+Y 6,360
o 15E01 & 80,0003 1+ 123 %60
o0 10E0] &t 60,0003 x5 * 123 3,600
o5H0l 4t 50,0003 3+ 123 1,800
O&IIZEY FII Itz 120
0200/ & 10,0003 x 15+ 123 120
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S SEAA
mu: HNSe | (FEARL)
Sl ol 2ol (5145 (514 E 2II) (e e
s oy 31 0 v -
SA - BB S9I(EN) - MRAL - BYS S cR HIDEY
OS+g=Rd 16,200
o¥eA=<(dt+=xel)
150,000 «0Z * 128 16,200
OAlI2IZ2+E 31,116
OHRAH (162 =) 1540/ 4
10,2473 x1H+30A| 2t 123 3,689
OXRABZ (0= =) 1540/t
9,523 «8H*30A| 2t 12E 27,427
OZ A3 Al 140,000 x9S~ 128 15,120
O E=IHI 34,310
033 (1653) 158014
2,979, 7003 *1Z~60%*22] 3,576
OFA(0==) 1540Iet
3,201,400 «8E »60%*22] 30,734
OgIt2 4| 12,295
O&F3(16s3) 1B5E0I&
99,323 12 +80%+* 152 1,282
O&#Z (25 =) 1540/t
106, 7132 x8 2 +80%+ 152 11,013
OBEAE pELy 30,0002 228+ 122 720
OEELES] 155, 00021492+ 122 16,740
OszYSsussy)
80,0002 +92 x 122 8,640
ong=s 536,824, 0002 %1 8% 9,663
OBAE BKOIH| 120, 00029252 5,400
OBAE ADET Ol
20,0002 x9Z *1202 21,600
204 XA 61,380 55,920 5,460
02 252 2&H| 41,220 36,720 4,500
=0l &t 41,220 36,720 4,500
Ob= 175,000 x5« 123 10,500
ors 165,0002x8H 123 15,840
O8= 155,000 x4H+ 123 7,440
O%= 155,000 x4~ 128 7,440
03 SELRZH 20,160 19,200 960
=0l &t 20,160 19,200 960
OB IEEAMA SR+ 2SH|
0,0002 <218 » 128 20,160
M HASFRE2S 495,114 441,048 54,066
01 H=RE= 411,021 369,527 51,494
=0l At 411,021 359,527 51,494
OHsTFE=s 2,112,880,000& *Fb 190, 160
o=2d= 2,112,880,000& 7.277% 153,755
O&X+=E8E= 2,112,880,0002 #2.983% 63,028
OMolE&RE = 2,112,880,000& 0. 193% 4,078
02 =2ALEES 84,093 81,521 2,572
=0l &t 84,003 81,521 2,572
Ocz=2d= 2,112,880,0002 %3.98% 84,093
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S SEAA
mu: SN2 | (FEARL)
Cigl: DB (MAT) (AT 2)/2) (e e
. s rol 1 2 0 -
S - B S2(B) - NISAY - BAS S cR HIDS2
Jl2dul(&+5)(A4+E301Y) 230,008 218,527 11,481
J|123&H| 230,008 218,527 11,481
201 Ler23| 201,648 184,767 16,881
01 AtS2teltl 120,606 118,955 1,651
=01 & 120,606 118,955 1,651
Oo[ger=&Hl] 35,170
OJI2 AIREEHI 50,0003 *30&+*22] 3,000
O&EAtZe| 237 50,0002 *8&*103] 4,000
O=AD|, BA Z2IF M|
100,000 & *55+23| 1,000
OHIZ =&t 100,000& *335+33| 900
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